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Note : uestion No. I is compulsory, answer any FIVE guestions from the remaining.
I . A Il

(il) Yo% 597 & @1 y7) &1 HHGR 0F G BT Filord |
Solve all parts of a question consecutively together.
(iii) N F97 F) 79 8 G IR B |
Start each question on fresh page.
(iv) 1 Srarsti & 31w 817 %1 e & sraah sgam & arg 8 |

Only English version is valid in case of difference in both the languages.

. () 3799 GENH Y 39 FTgHed & ?

What do you understand by Indeterminate structures ?
(i) Taa g R witfefi & sari i g 2

In what circumstances a continuous beam is made ?
i) swTelt YTt o Suam ferfad |

Write the uses of influence line diagrams.
(iv) W% ATl YA H qEIT |

Explain the area moment theorem.

(v) 7 St f afefRufiat w8 7

In which circumstances the retaining walls are constructed ? (2x5)

(10f4) P.T.O.
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2. Ta-1 v feam e sEm v 4 e Rty el yerefm g s e/l i d | de e 3
Tiet i gt T A 20 kN UE 35 kN 1 Tehieh! WR HRisier 8 | v # srfiesem fadg o

w1 8t T get 91 B | (1 = 7482 cm?, E = 200 kN/mm?2.)

A simply supported beam of span 4 m carries concentrated loads of 20 kN and 35 kN

at a distance of 1 m and 3 m respectively from left support as fig. 1. Find out the

maximum deflection of the beam and slope at left support.

I =7482 cm?, E = 200 kN/mm?>,

20 kN 35kN
— 4 ;
| m—C D T
3 Im e
fe— 4m 3
ﬁa"l ."Figtl

3. Fe-2 3 Rearht Tt 3T S ¥ e o T s st arive iR |

Draw SFD & BMD of fixed beam as shown in Fig-2.
10 kN 20 kN

S

3 m—f——2 m ———3 m ———>
-2 /Fig. 2

jeu)
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AR SRR LAY

4. foz-3 1 fewrft ™ w9y F farw SFD a2 BMD @ifd |

For the propped cantilever beam shown in fig.-3 draw SFD and BMD.

] 10 kN/m
Afw B
; 5 ]
- m "]
-3 /Fig. 3
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T8 -4 o femht et wad wa & o e 9w v I ol ama WA
Nraw SFD and BMD of continuous beam as shown in Fig. 4 (12)
80 kN 30 kN
j’ 20 kN/m l
B C D

7.

AT‘—Z m-—4m Fz m—¥e—3 m—{

e 6 m e 5m - 5m 3]
fa=-4 /Fig. 4

-5 % ward 7 famg Wil Y 4j@en T e vt AB % &T8 3R @ T 3R e R |
U H fem 40 m R, & 9 R & 1om Y ¢t w fRm @z W faen el st &
I frd gu sftrean s sl we Sftsan raEqw ae ) moE iR

A series of point loads as shown in fig.-5 crosses a simply supported beam AB from
left to right. For the beam of span 40 m, calculate the maximum B.M. and maximum

S.F. at a section of the beam a distance of 16 m from the left support without using
influence line diagram. (12)

16 kN 16kN 20 kN 20kN 20 kN

W S N B

B
f€ 3 m =4 m -4 m e 3 m 3 T
e 40 m 3|
=5 /Fig. 5

faa-6 1 zoia M 319 F v Itaua § 99 H1 O 7| A |

Find forces in all the members of the frame shown in fig. 6. (12)

20 kN 40 kN

) Jo

60° 60° 60° 60°

e s

ﬁa'ﬁ fFigt '6'

B

P.T.O.
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8. (i) H AW sl aweh Wawhs deva Rl L 9 3m v R | e 6w

o W W Reeigga/dier anfaafa R wEE § | R wolbd R g

F X gl v Fya FI WU R FA ST 1A A B |

A three-hinged parabolic arch has a span ‘L’ and rise 'r’. A uniformly distributed
load W kN/m is acting on whole span. Calculate reactions at supports and find
out the bending moment at any general section at a distance "X’ from support

‘A’
(i) gy drarl i e $ 7o wd ward |

Mention main conditions of stability of retaining walls. (6+6)
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